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A EF3
M o RHM U SMER B
el SMEX EX (=& J)
SA-HH S (3A) - HPAY - BAES 0l &k o J1 & o Hlms2
—SIEAgo 248 2B
2,500& *2,00021 5,000 4,400 600
HHEy dedst 1,173,885 1,206,562 AN32,677
< 23,811 27,822 A4,011
= 1,150,074 1,178,740 A 28,666
HHE"g OIer2st 1,173,885 1,206,562 AN32,677
< 23,811 27,822 A4,011
= 1,150,074 1,178,740 A 28,666
ols&s J=dd X&A 91,967 124,644 AN32,677
- 16,311 20,322 24,011
= 75,656 104,322 A 28,666
201 B2 4| 87,323 120,000 AN32,677
< 13,981 18,000 24,019
= 73,342 102,000 A 28,658
02 232Z 4l 87,323 120,000 AN32,677
OZHIEXZ ALY 87,323 120,000 A32,677
— 0S8 HHAHEE It XA
87,322,700& 87,323 120,000 AN32,677
= 13,981 18,000 AN4,019
= 73,342 102,000 A 28,658
301 Lt A g 4,644 4,644 0
= 2,330 2,322 8
= 2,314 2,322 A8
09 SHALAHIZ A S 4,644 4,644 0
OZHIEEAY 4,644 4,644 0
—SHS 01&d=3 K& 4,644,000 4,644 4,644 0
= 2,330 2,322 8
= 2,314 2,322 A8
2SS4 AUlA 235 1,292,321 1,192,321 100,000
= 7,560 7,560 0
< 150,381 50,381 100,000
= 1,134,380 1,134,380 0
32302 29 156,464 56,464 100,000
= 7,560 7,560 0
< 112,812 12,812 100,000
= 36,092 36,092 0
2350t 483 N 120,000 20,000 100,000
= 106,000 6,000 100,000
= 14,000 14,000 0
401 AlIEHIZ 20 Y| 100,000 0 100,000
= 100,000 0 100,000
01 Al& HI 100,000 0 100,000
OSZHIEZAIG(HEA) 100,000 0 100,000
—ote ZUHoE 2ssE4A 4R
100,000,000& 100,000 0 100,000
= 100,000 0 100,000
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

YHSAJH (B D) 64.719,982 68,992,890 ~4,272,908

= 165,339 165,339 0

< 543,404 543,404 0

2 64,011,239 68,284, 147 £4,272,908

ol2 2ol 64,455,152 68,735,665 £4,280,513

=2 165,339 165,339 0

< 543,404 543,404 0

2 63,746,409 68,026,922 £4,280,513

oz 2o 63,265,823 67,546,336 £4,280,513

101 2124Hl 49,247,035 53,218,755 £3,971,720

IERS 43,103,910 47,443,959 14,340,049

oJle3 30, 147,400 34,561,449 £4,414,049

-2+ 93,699,0008! *1% 93,699 91,008 2,691

- 63 3,806,500% *239% * 128 10,917,042 11,188,929 ~271,887

-73 2,774,300 5230% 128 7,657,068 9,262,560 A1,605,492

- 83 1,750,8008! *1342 * 128 2,815,287 4,391,288 ~1,576,001

-93 1,448,800 %1002 * 128 1,738,560 2,701,920 £.963,360

O+g 7,639,552 7,565,552 74,000

- L EEES 37,400,000 *10% 374,000 300,000 74,000

03 RIANAZEXE S 5,273,918 4,905,589 368,329

oB2H 2,392,914 2,194,585 198,329

-Jle3 1,359,684 1,192,298 167,386

SRR 1,614,9608! +58% » 128 1,124,013 1,003,947 120,066

BRAIISEAME 2,206,210 <12 +128 26,715 25,830 885

SR BSALE 1,934, 77081 +9% « 12 208,956 162,521 46,435

—Jlgag 450,724 434,153 16,571

SE R 1,764,960 542 *43] *100% 381,232 367,049 14,183
BRIISEAN

2,326,210 * 12 43| *100% 9,305 9,010 295

SRBAE 2,149,530 +7x43] «100% 60, 187 58,094 2,003

— 2 ZEIH| 112,682 108,540 4,142

SE=RE 1,764,960 «54% «23] +50% 95,308 91,763 3,545
BRIISEANN

2,326,210 » 1% x23| *50% 2,327 2,253 74

SRABAE 2,149,530% «72x23] 550% 15,047 14,524 523

- zn224g 166,936 160,798 6.138

SErex

1,764,960 /243+150%+20 Al 2++54% « 128 141,197 135,944 5,253
 BRIISBAE

2,326,2109! /243+150%+20A1 2t » 12 « 128 3,447 3,337 110

 HUBAA
2,149,530 /243+150%520 Al 2+ 572 128 22,292 21,517 775
— R EI Y 44,517 42,880 1,637
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SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2

EEYES

1,764,960 /243+8 Al 2 %542 %12 37,653 36,252 1,401
CPRIISBAE

2,326,210 /243%8Al 2H* 12 %12 919 890 29

C HUBAE
2,149,530 /243%8Al 2H+7 2 %12 5,945 5,738 207
- pu2=24g 66,775 64,320 2,455

Gl X
1,764,960 /24358 Al 2 150%+54 + 122 56,479 54,378 2,101

 RRIISEAE

2,326,2108! /2438 Al 2 * 150% 12 122 1,379 1,335 44

C HEBAE
2,149,530 /2438 Al 24 * 150%+7 % * 122 8,917 8,607 310
oBRN g3z 320,000,0008! 320,000 150,000 170,000
303 A2 2,205,135 2,513,928 308,793
02 8402 2,205,135 2,513,928 £308,793
053 0 43,855 43,855
1532 02 0 13,782 A 13,782
253 02 0 19,916 £19,916
-3s3 02 0 10,157 A10,157
062 855,074 1,017,972 162,898
-1s3 2,968,9382 * 162 5%+227 % 25% 273,792 319,908 ~46,116
253 2,968,938 2! *125%+227 2 %50% 421,219 462,294 A 41,075
-353 2,968,938 2! *95%+227 & 25% 160,063 235,770 AT5,707
o073 816,649 817,391 AT42
- 152 2,524, 1692 *162. 5%*2552] %25% 261,489 256,873 4,616
—-253 2,524, 16921 *125%+2552 *50% 402,290 371,204 31,086
—-3s3 2,524, 16921 #95%+255% 25% 152,870 189,314 £36,444
082 276,677 394,091 A117,414
— 152 2,006,828 162 5%+ 1042 x25% 88,591 123,847 A 35,256
253 2,096,828 *125%+ 1042 *50% 136,294 178,969 A 42,675
-353 2,006,8282! *95%+1042 +25% 51,792 91,275 £39,483
092 131,200 99,621 31,579
-153 1,782,880 %162, 5%+58 % «25% 42,010 31,307 10,703
—-253 1,782,8892 »125%+58 % *50% 64,630 45,241 19,389
-353 1,782,889 *95%+582 *25% 24,560 23,073 1,487
OXlE 2 9,237 9,244 AT
—-1s32 3,639,385 *162. 5%+22 x25% 2,958 2,905 53
—253 3,639,385 *125%+2 «50% 4,550 4,198 352
-3s3 3,639, 38521 *95%+2 % *25% 1,729 2,141 A412
OXIE At 61,956 78,330 £ 16,374
-1s32 2,570,033% %162, 5%+ 19 «25% 19,838 24,616 ~4,778
253 2,570,0332! *125%+ 19 50% 30,520 35,572 A5,052




2N
X ZH -
L= B

el

ro o o2
1% 02 oA
HO O &

02 02

0y
=S
B
04
]

~

=5

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
—3s= 2,570,033 & x95%* 19H »25% 11,598 18,142 AB,544

OH A 6,971 6,978 AT
—1s= 2,746,987 & x162.5%*2H »25% 2,232 2,193 39

— 285 2,746,987 & x125%*2H x50% 3,434 3,169 265
—3s= 2,746,987 & x95%*2H »25% 1,305 1,616 A3
OJIEHE (H#Z , 154 0/12H) 31,009 26,262 4,747
13 1,879,905& %162 . 5%+ 13H »25% 9,929 8,253 1,676
—2s= 1,879,905& »125%*13H *50% 15,275 11,926 3,349
—3s= 1,879,905 *95%* 13X »25% 5,805 6,083 AN 278
OJIEHE (#E , 15401 &) 16,362 20,184 A 3,822
—1s= 2,147, 1133 x163%*6 H »25% 5,250 6,343 A 1,093
—2s= 2,147, 113& x125%*6 H x50% 8,052 9,166 A1,114

— 3= 2,147, 1133 x95%*6H x25% 3,060 4,675 A 1,615

|23 bl 264,830 257,225 7,605
Jl2ztl 264,830 257,225 7,605
203 YR =&t 140,260 132,655 7,605
02 It S =&Y 46,360 38,755 7,605
O=2% 24,320,000 24,320 20,675 3,645

OS2I 3AHR 1t 80,000& x16H 1,280 1,120 160
OsgJl=HH 40,0003 *65H 2,600 2,080 520
OEAHA 40,0002 x86H 3,440 3,040 400
OSSAEAE 2 40,000& »20H 800 480 320
O&dt=S At & 40,000& *40H 1,600 800 800
OB A & 40,0003 »26H 1,040 840 200

osd 40,0003 »2824H 11,280 9,720 1,560




